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3. Explain what happens in the following Matlab m-file (comment each row and dneﬂb'ﬂ : : o\
:tmc;du;'e). Write the model equations in your answer paper in normal format. Is the model line: 3
explain)? e

function example
options = odeset ('RelTol',le-9,'AbsTol',le-9);

[t,st] = odelS5s(@derivative, [0,1000], [1,0,0], options);

figure (1)

plot (t,8t(:,1))
hold on

Plok(t ;eels,2),'x")
plot(x,s8t1:,3),'g")
hold off

function dxdt=derivative (t,x)

ca=x(1);
cb=x(2) ;
cc=x(3) ;

k1=0.002;
k2=0.02;

ratel=kl*ca”2;
rate2=k2*ca*cb;

dxdt (1,1)= -ratel -rate2;
dxdt (2,1)= ratel -rate2; : ‘ : &
dxdt (3,1)= rate2; = s &




